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Variable

o

A MOITL X%

« AZ2Y (DataType)dt OIES

int radius; // = M A

charcl,c2,¢c3;//3 702 H4E B =Hoj| MY
double weight;
int radius = 10; // B M Q1 91 X 7|3}

charcl='a',c2="b', c3=
double weight = 75.56;

s AnE SAOf| =712 X8

radius = 10 * 5; // H=0f Zf Cf
cl="r
weight = 5.0;

2 (= QLA CHSO| &)




Variable

— C# H20] Y (Variable categories)

. HA B4 (static variables) - && 0§74 B> (reference parameters)
. QIAEA B4 (instance variables) * &2 Oi7H #i4= (output parameters)
- HIZ QA (array elements) + X9 = (local variables)

o Zt O47H B4= (value parameters)

class A {
public static int x; / static variable x=0
inty; // instance variable y=0
void Foo(int[ ] v, int a, refint b, out int ¢) {
inti=1;// XYH = AFESHI| HO| HHEA| £7|3t ER
c=a+b++;
}
}

s




Local

Variable
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Variable

class MyClass {
public static int X; // static field X=0
public int Y; // instance field Y=0
public void Foo() {//instance method
int Z; /| X| Gz AT El AEY
intW=Y:;//W=0
/lintU =2Z; // Error: Use of unassigned local variable Z

}

public static void Foo2() { // static method
X=2;

}

}

class Program {
public static void Main(string[ ] args) {
MyClass.Foo2();
Console.WriteLine(*X = “ + MyClass.X); // X=2

IIMyClass.Foo(); // Error: An object reference is required for non-static field, method, or property




Class/
Method

O C#FCLUHI= ®2
« Console
» MessageBox
¢ INt32
« Math

O S A9 HO= HAE(Method)2t Xz &4 (Data Properties)E
T3t
« Method
© Console.Write(), Console. WriteLine(), Int32.Parse()

« Property
© Int32.MinValue, Int32MaxValue, Math.Pl, Math.E

cHA 501 AN AS
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3 AYUE Mg = UATE IS0 X IS0 |3
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Of2f JHX| FYRSS XTBGHA £ RAS X2l 4 QUE=E TS
45t 0|2 20l=

L2 0 HIAC(B4)S ABSILHS 242 ST HAC (847t &
4 QU= RIS olR[oH= ZIOIH " HAL(B4)E SESICI2IT Lt
YA LIROIAID HIAC(B4)E 7818 4 QT 558 4 US




HAE= W ERHI?
- 2HE Z LI=OA dilZ(divide and conquer)
- TEO| THAHE

» IE 780 Mol
- ZBE IEEME
» TE9| H&3R 7H54S




HILES 012¢t
S=3E=E S0I= 0N

class NumberExample {
public static int AbsSum(int a, int b) {
if(@<0)a*=-1;
if (b<0)b*=-1;
return a + b;
}
}

class Program {

public static void Main(string[] args) {

-2
int a = Int32.Parse(Console.ReadLine()); 3
int b = Int32.Parse(Console.ReadLine()); =
if (a<0)a*=-1; 2§J-|‘:5
if (b <0)b *=-1,
intresult=a+b;

-3
System.out.printin(*Z2t= " + result); dil=5
a = Int32.Parse(Console.ReadLine()); Ail=5
b = Int32.Parse(Console.ReadLine());
if(@a<0)a*=-1;
{if(b<0)b*:-l;
result=a + b;

Console.WriteLine("Z
Console.WriteLine("Z

}

IHE "+ result);
=

"+ NumberExample.AbsSum(-2, -3));




properties

— HAE 8 0Ll

class MyClass
{ Return Method

type name parameter list

A
v \

public static int SquareSum( int num1, int num2
{
int sum = numl + num2;
return sum * sum;
} \
return
value

body
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O HIAE(method)= Mel(header)2t S Hi(body)=E 2 ME

A aLH
g | LRI
ISRt R S &h4=0| 2 (0f 7| -’,‘-EI&E‘ }. e HE|(header)
{
SHAO| A AlSiS A E } g &8 (body)
}

o &%= A|ZJLIX(function signature)

© HACE TESI=H A8 E
. 15
© HASOIA X2I5H0F 5t FIS T=2 Zpdt mE




1




— HAE IHHx 2|AE

L-= = HA
& 7l olgQl Hlt H2lEH
Qi OH7HEH~E ALBETIF?

HACZO| Q202 M= 2t KAlSt
[}

v O7HH=S Aot 8834 THAHES

HAE0] QXS HEe [ Xts

HAES HE=E
params= O| OH7H F==7t 71HA JH




Higt XF=E 8 (return type)

HIAE0||A Bi=tot= &1t gfe
HAE LHEO| IE AH2 F
AOE E|EEI

SH2igt Q10| A A% L

return;

7*(volue type EE= reference type)Q| El

return 4t

=

tHEAE 2[H

C# 7082 H &X2 442 diEt

return ref gf

v ref FIRIEZH HIAE AL AHE =T

Zt return 7|HE= o QE 20| X0 X2




class Program {
static float Sum(float a, float b) {
return a + b;
}
static void Main(string[ ] args) {
float value = Sum(3, 4); // int->float implicit type conversion
value = Sum(3.2, 4.5); // compile error: cannot convert from double to float
Console.WriteLine("Hello ......... ™);
) ‘ ——
} class (parameters)

method
dot




static method (2™ HALE) $&

Z2 2o~ LYo M Q| static method Z= :
HAEH(;

CtE S22 WO A 2| static method 2 & :
SAH HAEH();




instance method (21 AEA

HALE) 25

b
=3

z
o

o
-
&

S A LW A Q| instance method ZZ :

£230;

o

22 LHo A Q] instance method & :
HAE.HAEF();




— jnstance vs static HIAE S= 0lHl

namespace MethodExample {
public class A {

}

}
}

public class B {

A.MethodA();
A a=new A();
a.MethodC();

public void MethodC() { // instance method
Console.WriteLine("MethodC() in class A");

public static void MethodA() {// static method
Console.WriteLine("MethodA() in class A");

public static void Main(string[ ] args) {

MethodA() in class A
MethodC() in class A




— HAE 28 A,
HAETIC H=E
H= 2 E0H0,
O="180l
SeEX %=
SorS 0| HEXIX

P FO|5t A

using System;
namespace NestedMethodExample
{
public class NestedMethod {
public static void MethodA() {

Console.WriteLine(“MethodA.");

}

public static void MethodB() {
MethodA();
Console.WriteLine(“MethodB.");
MethodA();

}

public static void Main(string[ ] args) {
MethodB();
MethodA();

}

MethodA.
MethodB.
MethodA.
MethodA.




Math Class
Method

Abs(x)
Ceiling(x)
Cos(x)

Exp(x)

Floor(x )
Log(x)
Max(X,y)
Min(x,y )
Pow(x,y)
Sin(x)
Sqrt(x )

Tan(x)

absolute value of x

rounds x to the smallest integer not less than x

trigonometric cosine of x (x in radians)

exponential method ex

rounds X to the largest integer not greater than x

natural logarithm of x (base e)

larger value of x and y
(also has versions for float, int and long values)

smaller value of x and y
(also has versions for float, int and long values)

x raised to power y (xy)

trigonometric sine of x (x in radians)

square root of x

trigonometric tangent of x (x in radians)

Abs(23.7)is 23.7
Abs(-23.7) is 23.7

Ceiling(9.2) is 10.0
Ceiling(-9.8)is -9.0
Cos(0.0)is 1.0

Exp(1.0) is approximately 2.7182818284590451
Exp( 2.0) is approximately
7.3890560989306504

Floor(9.2)is 9.0
Floor(-9.8)is-10.0

Log(2.7182818284590451 ) is approximately 1.0
Log( 7.3890560989306504 ) is approximately 2.0

Max( 2.3, 12.7 ) is 12.7
Max(-2.3,-12.7 ) is -2.3

Min(2.3,12.7)is 2.3
Min(-2.3,-12.7 ) is -12.7

Pow( 2.0, 7.0) is 128.0
Pow(9.0,.5)is 3.0

Sin(0.0)is 0.0

Sqrt(900.0) is 30.0
Sqgrt(9.0) is 3.0

Tan(0.0)is 0.0




Recursive
Method

— I H2E

« 7| A2 S&EGH= HIAEEZEA 22 Bt5E &0 29
AN

- oioh HiA
(I X)) M HA2EE O 83510 Ni(factorial) T+t |

o

=
B9=

o
=

N-HEZ|Y = N*(N-1) * (N-2) * (N-3) * ....... * 1




Recursive

Method

— T+ Hi2~2 Gilxl

namespace RecursiveCallExample {
public class RecursiveCall {
public static ulong Factorial(ulong number) {
if (number <=1)
return 1;
else
return number * Factorial(number — 1);

public static void Main(string[] args) {
ulong nfact = Factorial(5);
Console.WriteLine(5* 4 *3 * 2 * 1 =“ + nfact);

5*4*3*2*1=120




- C# params

« HAZO| I 245

A —
He HeE Q12| &+ Bl B

Ol AL C# 71E paramsE Al

» O params 7|9 E= 7HHAZQI HIEE Q== ZHA| oii==0|,
LI2tIHS & HHEA| L2 EXHoHOF oHH, BH OEK|2H0)| £IX[oHOF et

static int Sum(int start, params int[ | list) {
int sum = start;

for (inti = 0; i < list.Length; i++) sum += list[i];
return sum;

}
static void Main(string[ ] args) {

float value = Sum(10, 3, 5, 7, 9); // value = 34

}




Extension Method
(C# 3.0)

o
ba
=
B
In
L
i

S ot Eot R 9| static HIAE

- OIS SaiA/FERAC| QIAHA HIAEQ! AXE A= V5=
Alset

« 2oiA/FALDA/IEIIO|A S| A 35 = QU=

o ZIROL S £ Ql= A /FAXRX| © NET Frameworkoll H{ZE! S A/AEH|
O o|0| Bt=0{&I HIMEE 886 f71 .F.E.E’tf """" HAMEES F7t6HAM
A 4 Q= Z40] 2 B A

© intYOILL stringFol = 2 HIMEES FII6HM A = US

— =& HAE9 HofxEA

o
e HIAEE 7+ 22fAE static classO|O{of &t
& A E = static methodO|O{OF &t
et HIAE 9| ZHA OH7HEH =01l = this 7| =7t =0{70f gt
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]
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Extension
Method

— Extension Method Gl H|

public static class MyExtensions {
public static bool IsEvenNumber(this int num) => num % 2 == 0;
public static int WordCount(this String str) {
return str.Split(new char[] {'","", 1"},
StringSplitOptions.RemoveEmptyEntries).Length;

}
public Program {

static void Main(string[] args) {
int num = 10;
bool even = num.IsEvenNumber();
Console.WriteLine(even); // True
string str ="This is HCI Programming! ";
int count = str.\WordCount();
Console.WriteLine(count); // 4




Partial Method
(C#3.0)

C#20

partial 7|IE7t
ERIE|O, partial class,
partial struct,
partial interfaceZE

S (@)
AHBE 4 U

partial method

K|2&st

Partial method

HIAET HIEA|
private O|O0{Of G411,
2|EHZLO|
void O|O{O} &t




Patial
Method

— Patial Method Gl H|

public partial class Class2 {
public void Run() {

DoThis();
}
11 E2eP8X7 1S 7|2 private
// void gtzt

/I out OHZHEH =7} 1S

partial void DoThis(); // HIAE AL X H9|
}

public partial class Class2 {
partial void DoThis() { // HI2E &
Log(DateTime.Now);

o2}
HA O

/1 e’d X} virtual, override, sealed, new, extern

o




Named Parameter
(C# 4.0)

— Named parameter

« C#2 HIAEO DHH-S JEE [, YEEOZ OV EH = {XIO
et =AML 2 D7 A/ EAKXA E=0, C# 405 H 2IX|2k
SHRLO| If7HH+Z K’ 8oto] HEE = | otA2

© O|Zi2 named parametergtll £

static float Sum(float a, float b) {
return a + b;
}
static void Main(string[ ] args) {
float value = Sum(b: 3.2f, a: 4.5f);

}




Optional Parameter

(C# 4.0)

- Optional Parameter

« C# 405 H O HAEQ| OR7HHSIt =
HAE S& Al O2fst DHI7HH-E Y2fot= A=
© O|Zi2 optional parameterttil H1E

- &t optional parameter= BIEA| Of7HH=~ & 2H OFX[2H0]
S04 QJUO{0F &t

« 2479 optional parameter?t Y= FL BIEA| optionalO| OfH

OR7HH= =IOl RIXIoHOF &t

static float Sum(float a, float b=23.5f) {

return a + b;

}

static void Main(string[] args) {
float value = Sum(3.2f); // a=3.2, b=23.5, value=26.7




Local Function
(C# 17.0)

% (Local Function)= HH LHO] & HAES Mojst, A It
HAHEZ 23

2 (Local Function)= ol HIAE 0l S=& 2 OM, olLiol
o} A

Hll= Ol2d JHel 23 &

ggth = private 0IH, 24t HA S HojQ Eo 23 84 Hol=
HIA et XIE et £ g2
etaE= LIS stEXIE A2 JisE
. async
« unsafe

. static (C#8.0 O|) H& =24 &t

HRIE 4 QIS

« extern (C#9.0 O) Q& 2& st




Local Function

(C# 7.0)

= HIZY =Za0lM 25 ks
S

. 22SL= 22X (Closure) 7152 AFEE 4

-— EH” HAZ 010 H= HIZotM Eetol= R0

ol
P —]

A
o

9

=

L

rin

Xl

public static ref int Calc(int a, int b, |nt c) {/l a=2, b=5, c=7
int factor = 10; // Calc LHOf| X|¥¥H = factor &
intab = Formula(a, b); // 34%10 =4
intac = Formula(a, c); //48%10=8
return Math.Max(ab, ac); // 8
int Formula(int x, inty) {
intres=2*x+7*y-5;
return res % factor; // EZe+ LHFUIM A2 7S - closure
}
}

static void Main(string[ ] args) {
int number = Calc(2, 5, 7); // 8

}

o2
=




Local Function
(C# 17.0)

private static string GetText(string path, string filename) {
var reader = File.OpenText($"{AppendPathSeparator(path)Nfilename}”);
var text = reader.ReadToEnd();
return text;
string AppendPathSeparator(string filepath) {
return filepath.EndsWith(@“\”) ? filepath : filepath + @”\”);

}

#nullable enable
/I C#9.08 B 2 &, 0§71 H=, A 07 H0f £EHS HE7ls
private static void Process(string?[] lines, string mark) {
foreach (var line in lines) {
if (IsValid(line)) {
/l processing...

}
bool IsValid([NotNullWhenTrue] string? line) {

return !string.IsNullOrEmpty(line) && line.Length >= mark.Length; // closure




g (a rray)OlE" 22 dAlo] [IOIEHE OZtoli M AF=2otAHLL
S 2ol A2 & A= ol= HIOIE EH
. System.ArroyEf SoHAOM OMIEAOMH HHE (array)©
0E element = 4(type)0 ZOtof gt
« 2XA| (structure)2t MZ 20| U= HIO|E{O|X[Z HA! (type)O]
CHE FR9| J1E35H0]| AHE
- HIE (array)= MZE A2H0| QT YA 22 HIO|HE
1S3 e I ArEet

HH
E




— Hgol S

« &= OIOJHYQ| B=5 SAHO| O] 71 48

- HIZ2| I3 7|= HiEQ| Atz 278

- ZAo| ofigot= Bt=2l 22 HIOIH Y2 718 HIZ2| 43
- HIZS| HIZE|= BSH2ZE A1

o HO=IO| Xl‘X 7I-O Ol_Q_Ol.O:I
- HIE2| 0|52 A5
- HIEO| A= B

; —

o=

AE=O X =
=l HL=2 B |




— HHE HAH

type [ ] name;

. type - HIZS AXIZ 7/d6t= Q49| HAl(type)S LIEHH
« [1 - BHEO| Rt (rank)E LIEH
- name - HiEHL0| O|ES LIEMH

A
int[] myArray;

X735}

myArray = new int[5];




— HHEQ =18t

= AKint, long, float) & 0
EXHchar) null(8l 2tZ 2|0J)
EAIE (string) null(81 2+= 2l0)
enum 0
Z 2 (reference) null(B! 2+= 2|0J)
int[ ] myArray;
my[,irra))// = n:W int[5]; » 0 0 0 0 0
(HHE 4)

myArray
(HH &= H)




— HE9 24 i X|Zol= W
int[ ] myArray = new int[5[{0,1,2,3,4};
int[ ] myArray ={0,1,2,3,4};
int[ ] myArray;
myArray = new int[5[{0,1,2,3,4};
0 1 2 3
(HHE 24)

myArray
(HH &= H)




— HE9] X7JI3} =9 P&

« INtFQl 57HS| QLAE VI HIE myArray/t B&EO =
M2 2[0f| BHEO| KEEl=0|, BHiEE2 Stackdl, Zt LAS0| g2
HeapOf| AE0| =

Int[ ] myArray = new int[5]{14,54,23,11,65};

1

14 94 23 11 65

I myArray(4)
myArray(1) myArray(3)
myArray(2)

Stack &< Heap 9%

myArray myArray(0)




— CIXHA HHE H

/1 2Kl HiE 2| of

int[,] myArray = new int [2,5]{
{0,1,2,3,4},
{5,6,7,8,9}

0 1 2 3 4

5 6 7 8 9

myArray o OA




— LCHXH BHE HAXI2] Gid GlH

int[,] myArray = new int[2,5){
{0,1,2,},
{5,6,7,8,9}

X Ofl el
0 1 2 X X
>
5 6 7 8 9
myArray (S 24)

(HHEE)




— 2% g9l 3Ji

int[,] myArray = new intfrows, columns];

column

—
o
o
o

- — - -]

« Rows * columns BI=29]

HiS! 3717} A48 oy (L2 °1°

. &K AFRE HiO| 37|t o
SN 2 YL MolstD
AHESICHH, H22] WH| owWET (e /4)

- SITHE AFSE BIEHELC Hist
HIZ2| 2 7[7t ACHH HHEC
3717t 7ZFAHOIX] &7 IH=EO
CIAl CHE BB O 2 HIESE
MZ M6 D AHEGHOF &t




— CHXH HHE vs. E7AA S

H

- CIRHR HHO| B Q= HiE
o S H&IAO] HHOE'(JGQ d
[1[]BEHZ BHiF=01o¢

|:|0II Q

Al 242 MSIFOF e
Array, a.k.a Array of Arrays)2

int[,] myArray = new int[2,5
{0,1,2,}, /10fl2] 2’d

{5.6,7,8,9}

int[ ][ ] myArray = new int[2][ ] ;
myArray[0] = new int[ ] {0,1,2,};

myArray[1] = new int[] {5,6,7,8,9};




— HHE2 =it

class CopyArray

{

static void Main (string [] args)

{
long [] Original = new long[4]{ 2, 1, 4, 5};
long [] Copy = Original;
Console.WriteLine(“1 : “ + Copy[3]); // 1 : 5
Original[3] = Original[0] + Original[2];
Console.WriteLine(“2 : “ + Copy[3]); // 2 : 6

}




— HHE2 =it

- HHEQ| FALZt O|RO0|X|H, SAl= HIEE2 M= HHES 4Joh= Ao

Ot 22H U= HHEQ| g2 FExotl U= A
- 17| =0 &2Hel BIE2| Q4 g/0l| Hat/t 47 [H FHB| =At
HHZOIME HHE 22 &Zok= AY

(tHe 24)

Original

Copy

L=

—




— HHE 9l XH (rank)

class ArrayTest

{
static void Main(string[ ] args)
{
int[ ] Arrayl = new int[4];
int[,] Array2 = new int[2,3];
int[,,] Array3 = new int[2,4,3];
NHN SO AFA2 HYE MRAN Q| 2t Q40| ==
Il Array12| Xt€d : 1
Console.WriteLine("Array12| At& : " + Arrayl.Rank);
Il Array2°| Xl : 2
Console.WriteLine("Array22| Xt : " + Array2.Rank);
/I Array32| Xt€d : 3
Console.WriteLine("Array32| Xt : " + Array3.Rank);
}




— HiE 2] 37| (length)

class ArrayTest

{
static void Main(string[ ] args)
{
int[ ] Arrayl = new int[4];
int[,] Array2 = new int[2,3];
int[,,] Array3 = new int[2,4,3];
/JHIEOo| A7| = HiEo| 2t @A A7|9 &4
/l Array1@| 37| : 4
Console.WriteLine("Array12| 37| : " + Arrayl.Length);
Il Array22| 37| : 6
Console.WriteLine("Array22| 37| : " + Array2.Length);
/I Array32| 37| : 24
Console.WriteLine("Array32| 37| : " + Array3.Length);
}




— Hi 9] I A (index)

« HiZ[index]2td AH T HHE Q| index &=A0]| Y= element=
E=oHH, AR elementQ| indexs O
. HIIO| 95 index QIS H QIHAE ARSI

class ArrayTest

{

static void Main(string[ ] args)

{
int[] Arrayl = new int[4] {1, 2, 3, 4}
for (inti =0; i < Arrayl.Length; i++)
{

Console.WriteLine("Array1[{0}]={1}", i, Array1][i]);

}

}




Array®]
b=

HE (Sort) HHAE - System.Array.Sort()

- Y2 HAEE BIE9 Q4SS TF719 =MUiZ &2 ﬁA1 Ef
=AHZ BES oliF11 OIS HIE0| 2otz M4

— ZXJI38} (Clear) HIAE - System.Array. Clear()

- HIZQ| 2t Q4S9 g2 =7|3koh= HIAaE

£

— =Ml (Clone) HIAE - System.Array. Clone()

- HIEQ| F7|et Qagls BF &7 of0] MER HES 4-dot= HIAE

— M9l (IndexOf) HIAE - System.Array. IndexOf()

- 2O = 20| HiEQ & HRl QAPRIK|S Br2fol= M4

—_—




Array®]
-4 L]

— 2| (Clone), 49! (IndexO0f), E& (Sort) HAE

int[] one =new int[] {2, 1, 4, 5}; /lone{2,1, 4, 5}
int[] clone = (int[ ] Jone.Clone(); /lclone {2, 1, 4, 5}
one[3] = one[0] + one[2]; /lone{2,1,4,6}clone{2,1, 4,5}
foreach(intiin clone) {
Console.Write("{0} ", i); /12145
}
int where = Array.IndexOf(clone, 4); /l4is located in 2

Console.WriteLine("\n4 is located in {0}", where);

Array.Sort(clone);
Console.Write(“After sort: ");
foreach(intiin clone) {
Console.Write("{0} ", i); /I After sort: 1245

}




Array®]
-4 L]

— HAE9 2lH 22 =9 HHE

class ArrayReturn

{

static void Main(string[ ] args)
{
int[] MyArray = CreatelntArray(10);
/I MyArray®| 37| : 10
Console.WriteLine("MyArray2| 27| : " + MyArray.Length);

static int[ ] CreatelntArray(int size)

{
int[ ] intArray = new int[size];
return intArray;




Array®]
-4 L]

— HAE9 2AXt= A2l HHE

class ArrayParam
{
static void Main(string[ ] args)
{
int[] MyArray = {2,6,5,4,1};
MyMethod(MyArray);
/13,7,6,5,2
for(int i=0;i<MyArray.Length;i++)
Console.WriteLine (MyArrayl[i]);
}
static void MyMethod(int[ | parameter)
{
for(int j=0;j<parameter.Length;j++)
parameter[j]++;
}
}




Array®]

mlﬁ“ int[ ] Arrayl = new int[4] {2, 1, 4, 5} Il one-dimensional array
for (inti =0; i < Arrayl.Length; i++)
Console.WriteLine("Array1[{0}]={1}", i, Array1][i]);
2145
int[,] Array2 = new int[2,3]; /I two-dimensional array
inta=1;
for (inti =0; i < Array2.GetLength(0); i++)
for (intj = 0; j < Array2.GetLength(1); j++) 123
Array2[i, j] = at++; 457
Array2[1, 2] =7,
int[, ,] Array3 = new int[2, 4, 3]{ /I three-dimensional array
{{1,2,3},{4,561},{7,8,9},{10,11,12}}, D
{{1,2,3},{4,561},{7,8,9},{10,11,12}} 4 1 2 3
Y 1 4 5 6
for (inti = 0; i < Array3.GetLength(0); i++) 17 8 9
for (intj = 0; j < Array3.GetLength(1); j++) 1011 12
for (int k = 0; k < Array3.GetLength(2); k++)
Console.WriteLine("Array3[{0},{1}.{2}]={3}", i, |, k, Array3]i, j, K]);




int[ ][] Array4 = new int[2][] ; Il jagged array 012

Array4[0] = new int[] {0, 1,2 };

Array4[1] = new int[]{5,6,7,8,9}; 56789

for (inti = 0; i < Array4.GetLength(0); i++)
for (int j = 0; j < Array4][i].GetLength(0); j++)
Console.WriteLine("Array4[{0}[{1}={2}", i, |, Array4[i][j]);

int[][] Array5 =new int[ ][] { I/l jagged array 1 2
new int[] {1, 2},
new int[] {3, 4, 5}, 345
new int[] {6, 7, 8, 9}, 6 7 8
new int[] {10, 11, 12} 101112

h

for (inti = 0; i < Array5.Length; i++)
for (intj = 0; j < Array5[i].Length; j++)
Console.WriteLine("Array5[{0}[{1}={2}", i, j, Array5[i][j]);




